The exponential function with base a is

$$a^{X} = e^{X \ln a}$$

* The number e as a limit;

$$\lim_{x \to 0} (1 + x)^{1/x} = e$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{\ln a} + c$$

*
$$\int_{-\infty}^{\infty} a^{1/x} du = \frac{a}{$$

Question 4. Solve for t
$$e^{x^2}$$
 e^{x+1} = e^{t}
 e^{x^2+2x+1} = e^{t}
 e^{x^2+2x+1} = e^{t}

Question 14. Find the derivative of y with Page 385 respect to $x \cdot y = \ln(30e^{t})$
 e^{t}
 e^{t}

Question 21 Find the derivative of y with respect to
$$x$$
 $y = \frac{(cost + lnt)}{e}$
 $y = e \cdot e \cdot t = e \cdot t$
 $y' = e \cdot 1 + t \cdot e \cdot -sint$

Question 23. Find the derivative of y with respect to $x \cdot y = \int_{-\infty}^{\infty} sine^t dt$
 $y' = sin e^{hx} \cdot (lnx)' - sin e^{hx} \cdot (o)'$
 $y' = sin (x) \cdot \frac{1}{x} - sin (1) \cdot (o)$

Question 26. Find
$$\frac{dy}{dx}$$
 $\frac{dx}{dx}$ $\frac{dx}{dx}$

Question 38 Evaluate
$$\int \frac{e^{Vx}}{Vx} dx$$

Let $U = -Vx$

$$\frac{du}{dx} = -\frac{1}{2Vx}$$

$$= -2 \int e^{u} du$$

$$= -2 \int e^{u} du$$

$$= -2 e^{u} + c$$

Question 41 Evaluate $\int \frac{e^{v}}{x^{2}} dx$

$$\int \frac{e^{v}x}{x^{2}} dx$$
Let $u = \frac{1}{x}$

$$\frac{e^{v}x}{x^{2}} dx$$
Let $u = \frac{1}{x}$

$$\frac{e^{v}x}{x^{2}} dx$$

$$= \int e^{u} - du$$

$$= -\int e^{u} du$$

Question 48. Evaluate
$$\int_{0}^{\infty} 2x e^{x^{2}} \cos(e^{x^{2}}) dx$$

$$= \int_{0}^{\infty} 2x e^{x^{2}} \cos(e^{x^{2}}) dx$$

$$= \int_{0}^{\infty} \cos(u) du$$

$$=$$

Evaluate the following integral.

$$\int \frac{dx}{1+e^{x}} \cdot \frac{e^{x}}{e^{x}} = \int \frac{e^{x}}{e^{x}+1} dx$$

(et $u = e^{x}+1$, $du = -e^{x}dx$)

$$\int \frac{e^{x}}{e^{x}+1} dx = \int -\frac{du}{u} = \int \frac{du}{e^{x}+1} dx$$

$$= -\ln|u| + c = -\ln|e^{x}+1| + c$$

$$= -\ln(e^{x}+1) + c$$

Uploaded By: anonymous

STUDENTS-HUB.com

Let
$$u = \pi e^{t}$$
 $du = -\pi e^{t}dt$
 $y = \int e^{t} \sec^{2}(\pi e^{t})dt = \int \sec^{2}(u) \frac{du}{-\pi}$
 $= -\frac{1}{\pi} \int \sec^{2}(u) du = -\frac{1}{\pi} \tan(u) + c$
 $= -\frac{1}{\pi} \tan(\pi e^{t}) + c$
 $y(\ln u) = \frac{2\pi}{\pi}$
 $\frac{2\pi}{\pi} = -\frac{1}{\pi} \tan(\pi e^{t}) + c$
 $\frac{2\pi}{\pi} = -\frac{1}{\pi} \tan(\pi e^{t}) + c$

Question 73. Find the derivative of y with respect to x.
$$y = \log_{3}\left(\frac{x+1}{x-1}\right)^{h_{3}}$$
Hemember that $\log_{3}b = \frac{\ln b}{\ln a}$

$$y = \log_{3}\left(\frac{x+1}{x-1}\right)^{h_{3}} = \frac{\ln\left(\frac{x+1}{x-1}\right)^{h_{3}}}{\ln 3}$$

$$y = \frac{\ln 3}{\ln 3} \ln\left(\frac{x+1}{x-1}\right) = \ln\left(\frac{x+1}{x-1}\right)$$

$$y' = \ln\left(\frac{x+1}{x-1}\right) = \ln(x+1) - \ln(x-1)$$

$$y' = \frac{1}{x+1} - \frac{1}{x-1}$$

$$y' = \frac{x-1}{(x+1)(x+1)} - \frac{(x+1)}{(x-1)(x+1)}$$

$$y' = \frac{x-1}{(x-1)(x+1)} = \frac{-2}{(x-1)(x+1)}$$

Question 82: Find the derivative of y with respect page 386 to t.
$$y = t \log_3\left(\frac{\sin t}{(2\pi)}\right)$$
 $y = t \log_3\left(\frac{\sin t}{(2\pi)}\right) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln e^{-it}(2\pi)}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln 4}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln 4}{\ln 3}$
 $y = \frac{t}{\sin t}(\ln 3) = t \cdot \frac{\ln 4}{\ln 3}$
 $y = \frac{t}{\ln 3}$
 $y = \frac{t}$

Question 92 Evaluate
$$\int \frac{x^2}{1+2^x} dx$$

$$= \int \frac{1}{1+u} \cdot \frac{du}{2 \ln 2}$$

$$= \int \frac{1}{1+u} \cdot \frac{du}{2 \ln 2}$$

$$= \frac{1}{2 \ln 2} \int \frac{du}{1+u} + C$$

$$= \frac{1}{2 \ln 2} \ln |1+u| + C$$

$$= \frac{1}{2 \ln 2} \ln |1+2^x| + C$$
Question 98. Evaluate
$$\int \frac{\log_2 x}{x} dx$$

$$= \frac{1}{2 \ln 2} \int \frac{\ln x}{x} dx$$

$$\int_{1}^{4} \frac{\log_{2} x}{x} dx = \frac{1}{\ln_{2}} \frac{(\ln_{1} x)^{2}}{2} \Big|_{1}^{4}$$

$$= \frac{1}{2 \ln_{2}} \left[(\ln_{1} u)^{2} - (\ln_{1})^{2} \right]$$

$$= \frac{1}{2 \ln_{2}} \left[(\ln_{1} u)^{2} - 0 \right] = \frac{(\ln_{1} u)^{2}}{2 \ln_{2}}$$

$$= \frac{(\ln_{1} u)^{2}}{\ln_{1} u} = \frac{\ln_{1} u}{2 \ln_{2}}$$

$$= \frac{(\ln_{1} u)^{2}}{\ln_{1} u} = \frac{\ln_{1} u}{2 \ln_{2} u}$$

$$\int_{1}^{2} \frac{dx}{x \left(\frac{\ln_{1} x}{\ln_{2}} \right)^{2}} = \int_{1}^{2} \frac{(\ln_{1} x)^{2}}{x \left(\frac{\ln_{1} x}{\ln_{2}} \right)^{2}} dx$$

$$= (\ln_{1} x)^{2} \int_{1}^{2} \frac{du}{(u)^{2}} = \int_{1}^{2} \frac{(\ln_{1} x)^{2}}{x \left(\frac{\ln_{1} x}{\ln_{1} x} \right)^{2}} dx$$

$$= (\ln_{1} x)^{2} \int_{1}^{2} \frac{du}{(u)^{2}} = -(\ln_{1} x)^{2} \cdot \frac{1}{u} + c$$

$$= -(\ln_{1} x)^{2} \cdot \frac{1}{\ln_{1} x} + c$$

Question 108. Evaluate
$$\int_{1}^{x} \frac{1}{t} dt$$

Page 386. Evaluate $\int_{1}^{x} \frac{1}{t} dt$

= $\ln |e^{x}| - \ln |1| = \ln e^{x} - \ln 1$

= $x - 0 = x$

Question 118. Use logarithmic differentiation to find page 386 $\frac{dy}{dx}$. $y = (\ln x)^{\ln x}$

take $\ln y = \ln ((\ln x)^{\ln x})$
 $\ln y = (\ln x)((\ln (\ln x)))$
 $\ln y = (\ln x)((\ln (\ln x)))$
 $\frac{y}{y} = \ln x$. $\frac{(\ln x)}{\ln x} + \ln (\ln x)$. $\frac{1}{x}$
 $\frac{y}{y} = \frac{1}{x} + \frac{\ln (\ln x)}{x}$
 $y = y \left[\frac{1}{x} + \frac{\ln (\ln x)}{x}\right]$
 $y = (\ln x)^{\ln x} \left[\frac{1}{x} + \frac{\ln (\ln x)}{x}\right]$